EK29

MICROTECHNOLOGY

PRECISIONPOWERSANALOG

Power Booster Evaluation Kit

APPLICABLE PARTS (SOLD SEPARATELY)
e PB51

INTRODUCTION

This easy-to-use kit provides a platform for the evaluation of the PB51 high voltage power boosters. The
PB51 is designed most commonly in combination with a small signal, general purpose op amp. However, they
can also be used without a driver amplifier. This kit can be used to analyze a multitude of standard or propri-
etary circuit configurations.

Use the supplied thermal washers or thermal grease between the power amplifier and the

CAUTION heat sink.

Figure 1: PCB

TOP SIDE
O . . O
O Sooozo2200 5 O
- £20zz206z2%323 0
EVAL30 R COMPONENT SIDE  (.ifoooop 00000002
> 000000000000000000000 oo[doo ° DUT
o
00000000 olo ofolo ofo 0] © o o|o|o o J6 Cooboboooo0o0bDoo
;oooo0ooolf olero|o|oralel |~ 10]676 0 5 glfo|o o 5 o 0coobboooobbo
Zoooo0o0o0olo ofo ololo ofo 6|66 [0 o o|o|o © N B
zoo0o00o0o0o0lo |G oo olojoolo 6076 0 o ololo o BB
o o o B B +
Lo0o0o0000o0lo ofo olojo oo 0000 o ololoo cs
foo0o0o0o0ool ofo ololo 0o 67070 0 o olo|o © 1le\JTele o C7| | C6
© 00000000 ofo olojo 0o 61616 © o o|olo o o ° ° ® R
. 0000000 oooolojooo 67676 0 o ololo o o ) I o o2 3.00
©0000000000000O o olofo o o Ulo o 2 5 5
o olofo o o °o o
0000000000000 O 000 00000 o o o R2 | Ri
c1 c2 4+ + cooooaNw J2 J ++ Cc8 C9 D1
o o
C3 C o o C10 g A
o o =
° 9 Aco
o o wee 0 0 o ocoo
o @ J4 C11D2 + +
+ee (00 0 ocoo
GND +Vce -vee -IN J3 Vs +Vs ouTRUT
o o o o o o o o o o o o o o o o
O +N O
| 6.43 |
BOTTOM SIDE
o o o o o o o o o o o o o o o o
ooo o
o o
o o coo o
° 3 0 0 0 oo o o o
o o o o o o ° °
o o o o o o o o
o o © o 0coooo
00000000000000 000 00000 o o o ° o
6 ©o6 o ) o o
©00000000000000 © 0200 ® = 11111
0000000 00000000 6616l 0 © 0 0 lolo ° o ® © ©
0cooo0o00o0o0 0cooo0000 61616 0 [0 © 0 o/ lo ° ° ® - -
cooo0o00o0o0 ©coo0o0000 61616 0 © © © o o ° ° - o 5 5
00000000 000000O0O ENENE & B 8 8 6l 0 ° 5 B E
6 oo
00000000 0000000 0000 N . e 3 5 5
cooo0o0o0o0o0 ©cooo0000 61616/ 0 © ©© oo B BE
cooo0o00o0o0 ©cooo0000 61616 o 0 © 0 lo/lo 1 B
cooo0o0o0o0o0 ©coo0o0000 61616 [0 [0 © © [0/ lo o000 oo ppopoe
0cooo0o00o0o0 0coo0o0000 61616 0 © © © o o ©0ooooppPpep0p0o
0000000000000 0OOOOOOOO ©OOOOO o
o Ooooo0o0oo000oo
o

© Apex Microtechnology Inc. Jan 2016

www.apexanalog.com All rights reserved EK29U Rev F



EK29

MICROTECHNOLOGY

PRECISION<POWER*<ANALOG

Figure 2: EK Schematic

U

i “f O

6 [ — V6

+VCC

L 0 os U D O,

Cr~C D1 G )

73 1% <

PARTS LIST

Reference Manufacturer Part # Description QTY
HS20 Heatsink 1
EVAL30 PC Board 1
MS06 Mating Socket 1
TWO07 Thermal Washer 1 Package

BEFORE YOU GET STARTED

e All Apex Microtechnology amplifiers should be handled using proper ESD precautions.
e Always use the heat sink and thermal washers included in this kit.

¢ Always use adequate power supply bypassing.

¢ Do not change connections while the circuit is powered.
¢ |Initially set all power supplies to the minimum operating levels allowed in the device data sheet.

e Check for oscillations.

EK29U Rev F



EK29

MICROTECHNOLOGY

R S 0 R« AN 0

ASSEMBLY

1. Onthesilk screen side of the evaluation board, insert and solder the MS06 mating socket in DUT holes 1-
12. Be sure each one is fully seated.

2. Solder components for your circuit. Be sure to include proper bypassing, required compensation compo-
nents and current limit resistors. See the op amp data sheet for help in selecting these components.

3. Place the TWO07 thermal washer on the heat sink over the mounting hole for the DUT. Place a #6 screw
through the mounting hole and thread a #6 nut onto the screw at the back of the heat sink. Do not
tighten. Note that there are two sets of mounting holes on the HS20. Holes on one edge allow room
between the DUT and evaluation board for the MS06 socket. The holes on the other edge are for direct
through hole mounting of the DUT to the evaluation board. It is recommended that you use the MS06.

4. Mount the DUT to the HS20 by sliding under the head of the #6 screw and on top of the thermal washer.
Tighten the nut to the specified 8 to 10 in-Ibs. (0.9 to 0.13 N*m) do not over torque.

5. Install leads of the DUT into the MS06 on the evaluation board. Use #6 self-tapping screws to secure the
evaluation board to the HS20 heatsink as shown in the assembly diagram (Figure 3).

Figure 3: Assembly

HEATSINK
O HS20

6-32 NUT
|— AMPLIFIER
ﬁTHERMAL

WASHER

— MSoe
SOCKET

PC BOARD
6-32 x 1/2 SCREW

6-32 X 3/8 SELF-TAPPING SCREW ?’
2 PLCS W

NOTE: FASTENERS NOT INCLUDED I

EK29U Rev F 3



